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UNIT- I

1. Science of heredity is

(a). Cell biology 

(b). Immunology 

(c).Evolution 

(d).Genetics

 2. After cross-fertilization of true-breeding tall and dwarf plants, the F1 generation was self-fertilized. The resultant plants have genotype in the ratio
(a) 1:2:1 (homozygous tall : heterozygous tall : dwarf)

(b) 1:2:1 (heterozygous tall : homozygous tall : dwarf)

(c) 3:1 (tall : dwarf)

(d) 3:1 (dwarf : tall)

3. Which of the following characteristics of pea plants was not used by Mendel in his experiments?
(a) seed colour

(b) seed shape

(c) pod length

(d) flower position

4. Mendel took _______ contrasting characteristics of pea plants.
(a) eight

(b) seven

(c) six

(d) five

5. Test cross determines
(a) whether two traits are linked or not

(b) the genotype of F2 plant

(c) whether the two species will breed successfully or not

(d) number of alleles in a gene

6. Genotype of dominant plant can be determined by
(a) pedigree analysis

(b) back cross

(c) test cross

(d) dihybrid cross

7. Test cross is a
(a) cross between two recessive homozygotes

(b) cross between dominant homozygote and heterozygote

(c) cross between two F1 hybrids

(d) cross between an F1 hybrid and recessive homozygote

8. Lack of independent assortment of two genes is due to
(a) recombination

(b) crossing over

(c) linkage

(d) repulsion

9. The genes for the seven characters chosen by Mendel are located on
(a) four chromosomes

(b) five chromosomes

(c) six chromosomes

(d) seven chromosomes

10. The tendency of an offspring to resemble its parent is known as

(a) Variation

(b) Heredity

(c) Resemblance

(d) Inheritance

11. Who is known as the “Father of Genetics”?

(a) Morgan

(b) Mendel

(c) Watson

(d) Bateson

12. The alternate form of a gene is

(a) Alternate type

(b) Recessive character

(c) Dominant character

(d) Allele

13. The genotypic ratio of a monohybrid cross is

(a) 1:2:1

(b) 3:1

(c) 2:1:1

(d) 9:3:3:1

14. The crossing of F1 to either of the parents is known as

(a) Test cross

(b) Back cross

(c) F1 cross

(d) All of the above

15. Which of the following statements is true regarding the “law of segregation”?

(a) Law of segregation is the law of purity of genes

(b) Alleles separate from each other during gametogenesis

(c) Segregation of factors is due to the segregation of chromosomes during meiosis

(d) All of the above

16. Homozygosity and heterozygosity of an individual can be determined by

(a) Back cross

(b) Self-fertilization

(c) Test cross

(d) All of the above

17. An exception to Mendel’s law is

(a) Independent assortment

(b) Linkage
(c) Dominance

(d) Purity of gametes

18. Pea plants were used in Mendel’s experiments because

(a) They were cheap

(b) They had contrasting characters
(c) They were available easily

(d) All of the above

19. Mendel’s findings were rediscovered by

(a) Correns

(b) De Vries

(c) Tschermark

(d) All

20. Alleles are

(a) Alternate forms of genes
(b) Linked genes

(c) Chromosomes that have crossed over

(d) Homologous chromosomes

21. When the activity of one gene is suppressed by the activity of a non-allelic gene, it is known as

(a) Pseudo-dominance

(b) Hypostasis

(c) Epistasis

(d) Incomplete dominance

22. The Phenomenon of two or more than two genes affecting the expression of each other is called ___________

a) Crossing over

b) Pairing

c) Gene interaction

d) Linkage

23. Which of the following ratio shows complementary gene interaction?

a) 9:7

b) 15:1

c) 1:2:1

d) 9:3:3:1

24. Which of the following does not show Mendel’s law of inheritance?

a) Masking gene interaction

b) Epistasis

c) Supplementary gene interaction

d) Codominance

25. Choose the correct ratio, which shows the masking gene interaction?

a) 12:3:1

b) 9:3:4

c) 1:2:1

d) 9:7


26. Name the phenomenon where two genes have the same expression of the character?

a) Pleiotropy

b) Phenocopy

c) Penetrance

d) Expressivity

27. What is psudoallele?

a) Allele with similar function

b) Allele with similar structure

c) Alleles with similar function and structure

d) Alleles with similar function and different structure

28. Name the effect which shows the change in expression of alleles of the gene due to a specific environmental condition.

a) Lethal genes
b) Supplementary genes
c) Complementary genes
d) None of these

29. Sickle cell anaemia is an example for
a) Rose

b) Pea

c) Walnut

d) Single

30. Which is the example of supplementary gene
(a)  Cucurbitta pepo

(b)  Skin colour of mice

(c)  Comb shape of poults

(d)  None of the above

31. In a gene interaction the gene that masks the expression of another gene is termed

(a) Epistatic gene 

(b)  Hypostatic gene

(c)  Both (a) & (b)

(d)  None of these

32. Allelic gene interaction is exhibited by which of these

(a) Incomplete dominance
(b) Codominance
(c) Lethal genes
(d) All of these
33. Examples of non-allelic gene interaction are 

(a) Complementary genes 

(b) Supplementary genes

 (c) Modifier genes 

(d) All of these
34. An X linked recessive gene would appear to _________
a) Be expressed in both males and females equally

b) Skip generations

c) Be lethal

d) Gradually degrade

35. Y linked genes are _________
a) Expressed only when homozygous

b) Present near the telomere of long arm in human

c) Carried by mother

d) Expressed only in men

36. Genes which are present in the homologous region of X and Y chromosomes are called_________
a) Autosomal

b) Sex linked

c) Partially sex linked

d) Unlinked


37. Choose the odd one out.

a) Color blindness

b) Haemophilia

c) Duchenne muscular dystrophy
d) Faulty tooth enamel

38. Y linked inheritance is _______________ inheritance

a) Criss cross

b) Straight

c) Loop

d) Jumping

39. Which of the following is wrong?

a) Y chromosome lacks dosage compensation

b) X linked genes are inherited as criss cross

c) Y linked gene like haemophilia passes from father to son

d) X linked recessive genes are carried by females

40. Which of the following is a Y linked gene?

a) Faulty dental enamel

b) Haemophilia

c) Hypertrichosis

d) Phenylketoneurea

41. Which of the following is partially sex linked?

a) Complete colorblindness

b) Hypertrichosis

c) Faulty tooth enamel

d) Haemophilia

42.Which of the following trait shows only variation in expressivity?

a) Brachydactyly

b) Osteoporosis imperfectica

c) Pea seed colour

d) Polydactyly

43. Expessivity doesn’t depend on which of the following factors?

a) Environment

b) Penetrance

c) Genotype

d) Linkage

44. A colour blind man marries a woman who is carrier of the trait; it is expected that
(a) all sons are normal and daughters are colour blind

(b) all their children are colour blind

(c) all daughters are normal and all sons colour blind

(d) some sons and some daughters are colour blind

45. Haemophilia is more common in males because it is a

(a) recessive character carried by Y chromosome

(b) dominant character carried by Y chromosome

(c) dominant trait carried by X chromosome

(d) recessive trait carried by X chromosome

46.Women rarely experience sex-linked defects because they must be

(a) homozygous

(b) carrier

(c) heterozygous

(d) develop immunity
47.A single recessive trait which can express its effect should occur on

(a) any autosome

(b) any chromosome

(c) X chromosome of female

(d) X chromosome of male

48.Which of the following is the example of sex linked disease?

(a) AIDS

(b) Colour blindness

(c) Syphilis

(d) Gonorrhoea

49. The recessive genes located on X chromosome in humans are always

(a) Expressed in females

(b) Lethal

(c) Sub Lethal

(d) Expressed in males

50. In men sex linked characters are mainly transmitted through

(a) autosomes

(b) X chromosome

(c) Y chromosome

(d) all of them

51.Unfertilized egg of human contains

(a) one Y chromosome

(b) X and Y chromosome

(c) XX chromosome

(d) one X chromosome

52. A colour blind person cannot distinguish the colours-
(a) green-blue

(b) red-blue

(c) green-red

(d) none

53. Genomic imprinting in autosomes is seen in _______ percent of the genes.

a) 100%

b) 50%

c) 25%

d) <1%


54. Differential expression of the genetic material depending on its parentage of inheritance gives________
a) Penetrance
b) Expressivity
c) Imprinting
d) Non-penetrance

55. Choose the wrong statement in the regulation of imprinting.

a) Methylation of the C residues are seen in the CpG islands

b) The methylation prevents binding of the RNA polymerase

c) Genes are methylated at random

d) Deletion of gene with methylated CpG islands will have no effect

56. During _________ both the H19 alleles are ___________
a) Oogenesis, inactivated

b) Oogenesis, activated

c) Oogenesis, hyper-activated

d) Spermatogenesis, activated


57. When the specific non-imprint gene from the chromosome 15 of the mother is missing it leads to _________________

a) Pader Willi syndrome

b) Angelman syndrome

c) Down’s syndrome

d) Klinefelter syndrome

58. Barr body is the ___________

a) Active X chromosome

b) Inactive X chromosome

c) Active Y chromosome

d) Inactive Y chromosome

 59. What changes occur in the chromosome to make it inactive?

a) Methylation

b) Glycosylation

c) Acetylation

d) Phosphorylation

60. In which stage of the cell cycle the Barr body can be identified?

a) Interphase

b) Prophase

c) Metaphase

d) Anaphase

UNIT-II

1. Alleles are

        
a)  Alternative forms of a gene                 
b) Homologous chromosomes

         
c) Linked genes                                        
d) Chromosomes that have crossed over

2. Multiple alleles control inheritance of

          
a) Blood group                                             
b) Sickel cell anemia

          
c) Phenylpetonuria                                      
d) Colour blindness

3. Genes located on same locus but having different expressions are

           
a) Multiple allele                                         
b) Ontogenesis

           
c) Poly genes                                                  
d) Co dominance

4. Inheritance of ABO blood group illustrate 

            a) Endoploidy                                                  
b) Polyploidy

            c)  Incomplete dominance                            
d) Multiple allelism

5. Wild type of Rabbit coat colour is

            a) Chinchilla                                                     
b) Himalayan

            c) Agouti                                                          
 
d) Albino

6. The genes of different traits located on different loci on the same chromosomes are

            a) Alleles                                                        

b) Linked

            c) Pleiomorphic                                              

d) Mutated 

7. Strength of linkage is related inversely to distance between

         
a) Genes                                                            
b) Chromatids

         
c) Chromosomes                                              
d) Telomeres

8. When linked characters on genes are inherited together through two (or) more generations, it is called

       
a) Complete linkage                                       
 
b) Incomplete linkage

         
c)   Continuous linkage                                     
d) Consistent linkage

9. Crossing over brings about

         
a) Cytoplasmic reorganization                       
b) Recombination of genes 

          
c) Complete linkage                                        
d) No significant change

10. Mendelian recombination are due to 

 
 a) Independent assortment of genes           
b) Linkage of genes

            c) Mutations                                                     
d) Dominance

11. Synaptonemal complex is observed during cell division in

a) Meiotic prophase                                           
b) Mitotic prophase

    
c) Meiotic metaphase                                        
d) Mitotic telophase

12. Crossing over is advantageous because it brings about

a) Linkage                                                               
b) Homozygosity

     
c) Variation                                                           
d) Stability

13. The cross shaped structure during meosis (chiasmata) was first detected in

a) Fishes                                                                 
b) Amphibians 

   
c) Reptiles                                                             
d) Birds

14. Which factor affects crossing over 

    
a) High temperature                                            
b) X-ray

          
c) Genic mutation                                                 
d) All of these   
15.  Chromatid is

     
a) One half of chromosomes                                

b) Haploid chromosomes

     
c) Diploid chromosomes                                       

d) Homologous chromosomes

16. The smallest unit of genetic material which produce a phenotypic effect on mutation is

  
a) Nutron                                                                 

b) Gene

     
c) Recon                                                                   

            d) Nucleic acid  
17.  How many phenotypes can occur in the human blood group ABO with allele’s |A|B|?

          
a) 2           b) 3               c) 4             d) 1    

18.  A person with antigens A and B no antibodies belongs to blood group

a) O          b) AB             d) B            d) A

19.  If a patient with blood group B requires   an immediate blood transfusion, this type can be given

  
a)  AB   and B                                                             
b)  AB and A    

           
c)  AB and O                                                             
d) B and O     

20. Crossing over takes place in the

  
a) Diakinesis stage                                                   
b) Anaphase stage

       
c) Pachytene stage                                                   
d) Leptotene stage  

21. There are ______ pairs of chromosomes in Droshophila.  
     
a) 1                 b) 2                   c) 4                         d) 8 

22. Percentage of crossing over is more when

        
a) Genes are located in a different cell

        
b) Genes are not linked

            c) Linked genes are located close to each other

         
d) Linked gens are located for apart from each other 
23.  Repulsion and coupling are two phases of

a) Mutation                                                                      
b) Chiasmata

  
c) Linkage                                                                         
d) Crossing over

24.  Which type of DNA is connected by a holiday junction?

   
a) Homologous DNA duplex                                           

b) Hetero duplex DNA

c) Mutated DNA                                                                

d) A symmetric DNA

25.  When the double strand breaks, the DNA cleaving enzymes generate.
  
a) Double strand DNA                                                    
b) Fragmentation

    
c) Single stranded DNA


d) Single stranded over hangs

26. Homologous DNA recombination in prokaryotes  takes place for


a) Increasing variability                                               
b) Repair


c) Incorporation of gene                                         

d) Taking up a plasmid from media

27. Recombination occurs during 


a) Leptotene                                                               
b) Zygotene

  
c) Pachytene                                                              
d) Diplotene

28. What is the relationship among  DNA, a gene and a chromosome ?


a) A chromosome contains 100 of genes which are composed of DNA


b) A chromosome contains 100 of genes which are composed of protein

  
c) A gene contains 100s of chromosome , composed of protein 

  
d) A gene composed of DNA, but there is no relationship to a chromosome 

29. Any change in the nucleotide sequence of the DNA of a gene is called 

   
a) A mutation                                                             
b) An advantage

    
c) A codon                                                                   
d) An anticodon
30. In split genes , the coding sequences are called as 

     
a) Cistron                                                                    

b) Operons

    
c) Exons                                                                       

d) Introns 
31. Split gene was first reported in


a) Drosophilla                                                             

b) Pea

   
c) Clukens                                                                    

d)  All the above    

32. The process of transfer of genetic information from DNA to RNA

a) Transvession                                                             
b) Transcription

  
c) Translation                                                                 
d) Translocation 
33. DNA elements, which can switch their position are called

        
a) Cistrons                                                                        
b) Transposons

       
c) Exons                                                                             
d) Introns
34. The splice site is found in

  
a) 3` end of exon                                                            
b) 5` end of intron

c) Within the exon                                                         
d) within the intron
35. The  3` end of an intron is marked by

a)  Donar site                                                                   
b) Acceptor site

c)  At rich site                                                                   
d) Branch point site
36. How many consensus sequences for splicing are found in an exon?

a) 1                          
b) 2                   
c) 3                   
d) 0       
37. RNA polymerase 11 is a protein –protein complex  that catalyze the transcription of DNA to synthesis the precursor of 

  
a)m RNA                                                                               
 
b) Sn RNA

     
c) Micro RNA                                                                         
d) All of above     
38. Modification of the 5` end of eukaryotic mRNA is called

a) Capping                                                                                
b) Polyadenylation

c) Splicing                                                                                   
d) Transcription                                                                               

39. The hereditary units which are transmited from one generation one called as

a) Chromosome                                                                       
b) Base pair

c) Genes                                                                                    
d) RNA 
40.  The genes are in the form of 

a) Sequence of nucleiotides                                                    
b)  Base pair

c) Proportion of base pair                                                       
d) None of these    

41. The terms , Cistron, Mutan and Recon were coined by

a) Jenner                                                                                    
b) Benzer

c) Carlson                                                                                   
d) Bateson

42. The gene was considered as

a) Unit of  inheritance                                                          

        
b) unit of  Recombination 

         
c) Unit of  Mutation

            d) All the above

43. The smallest unit of DNA cabable  of undergoing recombination during crossing over is called as

a)  Recon                                                                                      
b) Muton

c) None of the above                                                                   
d) Cistron

44. The smallest length of DNA which could undergo mutation is called as


a) Muton                                                                                        
b) Cistron


c) Recon                                                                                          
d) Genes 

45.  A  cistron can be over  a hundred nucleotide pairs in length and its nucleotide pair may be as long as


a) 40,000                                                                                          
b) 30,000

  
c) 15,000                                                                                          
d) 45,000 
46. The movement of genes from one linkage group to another is called
a) Inversion
b) Crossing over
c) Duplication
d) Translocation 
47. In some situation there is no time to analyse the blood group, which blood can be safely transferred?

a) O positive and Rh negative  

b) O positive and Rh positive

  
c) AB and Rh negative    

      
d) AB and Rh positive

48. Agglutinations are not found in blood groups


a) B                     b) AB                        c) B                            d) O   

49. Which of the following blood groups belong to the category of universal recipient?

   
a) A                      b) AB                       c) B                            d) O  

50. Which of the following blood groups belong to the category of universal donor?

a) A                       b) AB                       c) B                            d) O 

51. House keeping genes are typically

a) Constitutive genes                                                             
b) Mutant gene

c) Cistron                                                                                  
d) Recon

52.  In the split gene of ovalburin there are

  
a) 8 exons and 7 introns

  
b) 7 exons and 8 introns

  
c) 9 exons and 8 introns

d) 8 exons and 9 introns
53. A gene that specifies the amino acid sequence of a polypeptide chain is termed as

a) Structural gene                                                                  
b) Split gene

c) Operator gene                                                                


d) Regulator gene

54. The gene not expressing any protein is known as

a) Epistatic gene                                                                       

  
b) Hypostatic gene

  
c) Pseudo gene

  
d) None of these

55.  The intervening sequence of `gene` are known as 

a) Introns                                                                                      
b) Exons

c) Cistron                                                                                        
d) Codons

56. Exon part   of mRNA have codes for

a) Carbohydrate                                                                            
b) Lipid

c) Phospholipid                                                                             
d) Protein 

57. The jumping genes in maize was discovered by 

a) Beable and Tatum  

b) Barbara Meclintoke

 
c) H.G. Khorana

d) T.H. Morgan  

58. Chromosome map was first made by 

a) Sturtevant





b) T.H. Morgan                                                                                    

     
c) Muller                                    



d) Hardy      

59. The crossing over percentage is highly modified by

a) Interference                                                     
b) Both A and B

c) Co- Incidence                                                   
d) None of the above  

60.  Significance of crossing over is

  
a) Chromosome map                                        
b) Recombination

  
c) Variation                                                        
d) All the above
UNIT-III

1.​Who discovered sex chromosomes (X and Y chromosomes)? 
(a)​Robert Brown 
(b)​M.J.D. White 
(c)​Nettle Stevens 
(d)​G.J. Mendel 

2.​Genic balance theory was proposed by 
(a)​Bridges 
(b)​Morgan 
(c)​Boveri 
(d)​Lillie 
3.​When released from ovary, human egg contains 
(a)​One Y chromosome 
(b)​Two X chromosome 
(c)​One X chromosome 
(d)​XY chromosomes 
4.​A sex mosaic is known as 
(a)​hemizygous 
(b)​hermaphrodite 
(c)​gynandromorph 
(d)​heterozygous 

5.​Human gene determining sex at seventh week of pergnancy called TDF is present on 
(a)​X chromosome 
(b)​Y chromosome 
(c)​21st pair of autosomes 
(d)​none 

6.​Where are Barr bodies found? 
(a)​sperm 
(b)​ova 
(c)​somatic cells of humans 
(d)​somatic cells of woman 

7.​Lyon hypothesis deals with 
(a)​centromere position 
(b)​genetic compatibility 
(c)​genetic incompatibility 
(d)​number of Barr bodies 

8.​Barr body in human female is formed by 
(a)​inactivation of paternal X chromosome 
(b)​inactivation of maternal X chromosome 
(c)​inactivation of both X chromosomes 
(d)​inactivation of either the paternal or the maternal X chromosome

9.​Barr bodies are studied in 
(a)​prophase nuclei of human female 
(b)​interphase nuclei of human female 
(c)​prophase nuclei of human male 
(d)​interphase nuclei of human male 

10.​Free-Martin is an example of 
(a)​hormonal control of sex 
(b)​sex reversal 
(c)​transformer gene 
(d)​none of the above 

11.​Autosomes are 
(a)​sex chromosomes 
(b)​chromosomes except sex chromosomes 
(c)​chromosomes dividing automatically 
(d)​unit membrane bound cell organelle 

12.​The normal human female cells can be identified by the presence of  
(a)​microbody 
(b)​C-banding 
(c)​G-banding 
(d)​Barr body

13.​Viruses are no more “alive” than isolated chromosomes because 
(a)​They both require RNA and DNA 
(b)​They both need food molecules 
(c)​They both require oxygen for respiration 
(d)​They both require the environment of a cell to replicate

14.​In bacteriophages genetic material is 
(a)​RNA 
(b)​DNA 
(c)​Both RNA and DNA 
(d)​None of these 

15.​T2 phage has 
(a)​ds DNA 
(b)​ss DNA.
 (c)​ss RNA 
(d)​ds RNA 

16.​Circular single stranded (ss) DNA occur in bacteriophage 
(a)​T2, T4 
(b)​ɸ ×174, M13 
(c)​T3, ɸ6 
(d)​δ, T5 

17.​Conjugation in bacteira was discovered by 
(a)​Watson and Crick 
(b)​Lederberg and Tatum 
(c)​Jacob and Monod 
(d)​Zinder and Lederberg 

18.​The process of conjugation was discovered by Lederberg and Tatum in 
(a) Diplococcus pneumoniae 
(b)​Escherichia coli 
(c)​Salmonella 
(d)​Pneumococcus 

19.​Bacteria reproduce sexually by 
(a)​Endospores 
(b)​Transformation 
(c)​Conidia 
(d)​Exopores 

20.​Transformation experiment was performed on which bacteria 
(a)​ E.coli 
(b)​ Pneumococcus pneumoniae 
(c)​ Salmonella 
(d)​ Pasteurella pestis
21.​The process of genetic recombination involves direct contact between donor and recipient bacteria. It is known as 
(a)​Transformation 
(b)​Transduction 
(c)​Conjugation 
(d)​None of these 

22.​In male (F+) cells, plasmid/episome lies free in the cytoplasm or may be integrated with the chromosome of the bacterial cell. The latter condition is known as 
(a)​F factor 
(b)​Hfr (= high frequency of recombination) 
(c)​Both of these 
(d)​None of these 

23.​In bacterial conjugation, the transfer of genetic material is undirectional. The donor cell transfer part of its genome through the passage is formed by 
(a)​Flagella 
(b)​Dissolution of cell wall 
(c)​Sex pili 
(d)​None of these 

24.​Bacterial conjugation between F+ and F- results in the formation of merozygotes which are partial diploids. The use of F+ elements to create partial diploid is called 
(a)​Meromixis 
(b)​Amphimixis 
(c)​Sexduction 
(d)​Sexuality 

25.​The bacterial process in which genetic material is carried by some external agency is called 
(a)​Translation 
(b)​Transformation 
(c)​Transduction 
(d)​Conjugation

26.​Genetic recombination by transduction in bacteria was discovered first in 
(a)​Salmonella typhimurium 
(b)​Escherichia coli 
(c)​Streptococcus pneumoniae 
(d)​Agrobacterium tumifaciens 

27.​Clear areas of agar plates containing phage particles as well as bacteria are called 
(a)​Holes 
(b)​Plaques 
(c)​Lawn 
(d)​Bacteriophages 

28.​Bacterial transduction involves 
(a)​direct uptake of genetic material DNA from another source 
(b)​transfer of genetic material from one cell to another through conjugation 
(c)​mutation of gene 
(d)​transfer of genetic material DNA from one bacterium to another through a virus. 

29.​Which of the cytoplasm is responsible for cytoplasmic inheritance? 
(a)​egg 
(b)​sperm 
(c)​both of the above 
(d)​none of the above 

30.​Extranuclear genes are located in 
(a)​lysosomes and chloroplasts 
(b)​Golgi complex and ribosomes 
(c)​chloroplasts and mitochondria 
(d)​ribosomes and mitrochondria 

31.​Maternal inheritance is due to the genes present in 
(a)​nucleoplasm 
(b)​nucleus 
(c)​mitochondria 
(d)​lysosome 

32.​Extranuclear inheritance occurs in 
(a)​killer Paramecium 
(b)​killer Amoeba 
(c)​Euglena 
(d)​Hydra 

33.​The cytoplasmic units of inheritance are called 
(a)​genome 
(b)​lethal gene 
(c)​plasmagene 
(d)​all the above 

34.​Which is not an example of cytoplasmic inheritance? 
(a)​plastid inheritance 
(b)​kappa particle inheritance 
(c)​sigma particle inheritance 
(d)​female sterility in maize 

35.​A plasmid is 
(a)​genetic material of a virus 
(b)​extrachromosomal DNA in a bacterial cell 
(c)​starch granule 
(d)​fat granule 

36.​Albinism in corn is due to 
(a)​deficiency of light 
(b)​deficiency of minerals 
(c)​cytoplasmic inheritance 
(d)​through bacteriophage

37.​Cytoplasmic male steriltity is passed down 
(a)​biparentally 
(b)​maternally 
(c)​paternally 
(d)​through bacteriophage 

38. The virus mediated gene transfer using genetically modified bacteriophages is called
   
 a) transfection
  
b) transduction
  
c) transformation
  
d) conjugation

39. The ability of cells to take up DNA fragments from surrounding is called
a) transfection
b) transduction
c) transformation
d) conjugation

40. The removal or replacement of tumor causing genes from Ti plasmid is termed as
a) gene replacement
b) disarming
c) insertional inactivation
d) gene displacement

41. Which of the following statements are true for agrobacterium mediated gene transfer
a) Vir genes are essential for gene transfer
b) T-DNA borders are essential for gene transfer
c) both a and b
d) none of these

42. Ti plasmid vectors include
a) binary vectors and cointegrate vectors
b) cointegrate vectors and multiple vectors
c) multiple vectors and binary vectors
d) Ti plasmid based vector

43. Which of the following chemicals enhances vir gene expression
a) cyanidin
b) glutennin
c) acetosyringone
d)dextran

44. Chemicals used for gene transfer methods include
a) poly ethylene glycol
b) CaCl2
c) dextran
d) all of the above

45. Introduction of DNA into cells by exposing to high voltage electric pulse is
a) electrofusion
b) elctrofision
c) elctrolysis
d) electroporation

46. The transformation method that uses tungsten or gold particle coated with DNA accelerated at high velocity is called

a) acceleration method
b) high velocity method
c) particle gun delivery method
d) DNA particle delivery method

47. The method widely used for transforming invitro animal cell cultures that uses lipid vescicles or liposomes
a) lipotransformation
b) liposome mediated transformation
c) lipofection
d) lipid mediated DNA transfer

48. DNA solution injected directly into the cell using micromanipulators is called
a) macroinjection
b) micromanipulator mediated DNA delivery
c) microfection
d) microinjection

49. Fibre mediated DNA delivery uses
a) silicon carbide fibres that will create pores in the membarne
b) aluminium carbide fibres that will create pores in the membarne
c) boron carbide fibres that will create pores in the membarne
d) lead carbide fibres that will create pores in the membrane
50. The injection of DNA into developing inflorescence using a hypodermic syringe is called
a) macroinjection
b) micromanipulator mediated DNA delivery
c) microfection
d) microinjection

51. A recombinant DNA molecule is produced by Recombinant DNA Technology
a) joining of two DNA fragments
b) joining of two or more DNA fragments
c) both a and b
d) joining of two or more DNA fragments originating from different organisms

52. The gene formed by the joining of DNA segments from two different sources are called as
a) recombinant gene
b) joined gene
c) both a and b
d) chimaeric gene

53. Which of the following enzyme is used to cut DNA molecule in rDNA technology
a) ligase
b) phosphatase
c) ribonuclease
d) restriction enzymes

54. Restriction enzymes are also called as
a) biological scissors
b) molecular scalpels
c) molecular knives
d) all of these

55. The most important discovery that lead to the development of rDNA technology was
a) Double helix model of Watson and Crick
b) discovery of restriction enzymes
c) discovery of ligase enzyme
d) discovery of plasmids

56. Who discovered restriction enzymes
a) Nathan, Arber and Smith in 1970
b) Watson, Crick and Wilkins in 1970
c) Boyer and Cohen in 1975
d) Paul Berg in 1975

57. Who created the first rDNA molecule
a) Nathan, Arber and Smith
b) Watson, Crick and Wilkins
c) Boyer and Cohen
d) Paul Berg

58. The DNA molecule to which the gene of insert is integrated for cloning is called
a) carrier
b) transformer
c) vector
d) none of these

59. The DNA segment to be cloned is called
a) gene segment
b) DNA fragment
c) DNA insert
d) all of these

60. The mechanism of intake of DNA fragments from the surrounding medium by a cell is called
a) transformation
b) transduction
c) both a and b
d) conjugation
UNIT-IV

1.​Euploidy is best explained as follows 
(a)​ one chromosome more than the haploid set 
(b)​ one chromosome more than the diploid set 
(c)​ exact multiples of a haploid set of chromosome 
(d) one chromosome less than the haploid set 

2.​Polyploidy means 
(a)​ occurrence of haploid set of chromosomes 
(b) ​occurrence of diploid set of chromosomes 
(c)​ occurrence of three or more sets of chromosomes 
(d)​ all of these 

3.​A polyploid derived from F1 hybrid between two species is 
(a)​ amphidiploid 
(b) ​hexaploid 
(c)​ autodiploid 
(d) ​autopolyploid 

4.​If a diploid cell is treated with colchicine then it becomes 
(a) ​triploid 
(b) ​tetraploid 
(c)​ diploid 
(d)​ monoploid 

5.​Trisomy is epressed as 
(a)​ 2n+1 
(b)​ 2n-1 
(c)​ 2n+2 
(d)​ 2n-2

6.​The loss of one single chromosome creates a condition called 
(a) ​trisomy 
(b)​ nullisomy 
(c) ​monosomy 
(d) ​haploid 

7.​Monosomy is depicted by 
(a)​ n 
(b)​ n – 1 
(c)​ 2n – 1 
(d) ​2n – 2 

8.​A double monosomic is correctly represented as 
(a)​ 2n – 2 
(b)​ 2n + 2 
(c)​ 2n + 1 + 1 
(d)​ 2n – 1 – 1 

9.​Datura is a classical example of 
(a) ​trisomy 
(b)​ triploid 
(c)​ monosomic 
(d)​ nullisomic 

10.​Triticale is a new crop and first human-made cereal. It is 
(a)​ triploid 
(b)​ autotetraploid 
(c)​ allohexaploid 
(d)​ amphidiploid 

11.​Triploids are said to be more useful than other polyploids because these are 
(a)​ sterile and show increased vigour 
(b) ​fruitless 
(c) fertile and healthier 
(d)​ produce through triple fusion 

12.​Mongolism caused due to trisomy of 21st chromosome of humans is 
(a)​ Down’s syndrome 
(b)​ Patau’s syndrome 
(c)​ Klinefelter syndrome 
(d)​ Turner’s syndrome 

13.​Syndrome due to extra 18th autosomal chromosome is known as 
(a)​ Edward syndrome 
(b)​ Patau syndrome 
(c)​ Cri-du-Chat syndrome 
(d)​ Down syndrome 

14.​Raphanobrassica is a/an 
(a) ​autopolyploid 
(b) ​allotetraploid 
(c)​ hexaploid 
(d)​ none of these.

15.​Which pair is a chromosomal aberration ? 
(a)​duplication and translocation 
(b)​duplication and transduction 
(c)​duplication and transversion 
(d)​all of these 

16.​Mutual exchange of chromosome segments between non-homologous chromosomes is called 
(a)​duplication 
(b)​deletion 
(c)​translocation 
(d)​inversion 

17.​The formation of multivalents at meiosis in a diploid organism is due to 
(a)​deletion 
(b)​inversion 
(c)​monosomy 
(d)​reciprocal translocation 

18.​Attachment of a chromosomal fragment resulting in addition of one or more genes to a chromosome is called 
(a)​duplication 
(b)​translocation 
(c)​inversion 
(d)​deletion 

19.​Rearrangements of a group of genes in a chromosome in such a way that their order in the chromosome is reversed referred to as 
(a)​translocation 
(b)​inversion 
(c)​deficiency 
(d)​interchange 
20.​Philadelphia chromosome is found in patients suffering from 
(a)​hepatitis 
(b)​insomnia 
(c)​albinism 
(d)​myelocytic leukaemia 
21.​The number of chromosomes in human beings is 
(a)​36 
(b)​46 
(c)​26 
(d)​16 

22.​If various types of chromosomal abnormalites either in their number or morphology and these abnormalities may reside in autosomes or sex chromosomes and cause symptoms or a particular disease is known as 
(a)​gene expression 
(b)​chromosomal aberrations 
(c)​syndromes 
(d)​mutagens 

23.​One of the following is a mismatch 
(a)​Down syndrome – Autosomal aneuploidy 
(b)​Haemophilia – Sex linked 
(c)​Klinefelter syndrome – XO complement 
(d)​Turner syndrome – Female with retarded growth 

24.​Turner’s syndrome is depicted by 
(a)​XY 

(b)​XXY 

(c)​XYY 

(d)​XO 

25.​A human male has enlarged breasts, sparse hair on body and sex complement as XXY. He then suffers from 
(a)​Down syndrome 
(b)​Edward syndrome 
(c)​Klinefelter’s syndrome 
(d)​Turner’s syndrome 

26.​Number of chromosomes in human beings 
(a)​27 pairs 
(b)​28 pairs 
(c)​23 pairs 
(d)​20 pairs 

27.​Human individuals are mosaics with diploid, triploid and tetraploid and these cells are found in 
(a)​skin and liver 
(b)​pancreas and liver 
(c)​kidney and pancreas 
(d)​skin and kidney 

28.​Different types of chromosomes can be recognised by the position of the following separating the two arms 
(a)​centromere 
(b)​genes 
(c)​spindle 
(d)​nucleus 

29.​Webbed neck is characteristic of 
(a)​XXY 
(b)​XY male 
(c)​XO female 
(d)​XXX female 

30.​In recent years, DNA sequences (nucleotide sequence) of mt DNA and Y chromosomes were considered for the study of human evolution, because 
(a)​they are small and therefore easy to study 
(b)​they are uniparental in origin and do not take part in recombination 
(c)​their structure is known in greater detail 
(d)​they can be studied from the samples of fossil remains 

31.What is the correct definition of excision repair?
a) Repair of a single damaged nucleotide
b) Repair of a damaged oligonucleotide
c) Removal of a single damaged nucleotide
d) Removal of a damaged oligonucleotide
32.How many types of excision repair systems are known?
a) 1
b) 2
c) 3
d) 4
33. Why recombinational repair system is called double strand break repair?
a) Both strands are broken
b) One strand is broken
c) No strand is broken
d) Both strand act as template

34. Which enzyme is activated during double stranded break?
a) DNA polymerase
b) Translesional polymerase
c) RNA polymerase
d) Klenow fragment

35. What is the main enzyme that plays a major role in formation of thymine dimer?
a) DNA glycosylase
b) DNA photolyase
c) DNA gyrase
d) DNA ligase
36. Which two Uvr component molecules scan the DNA during nucleotide excision repair?
a) UvrC, UvrA
b) UvrA, UvrB
c) UvrB, UvrC
d) UvrD, UvrA

37. After creation of the bubble which Uvr component are recruited?
a) Uvr B
b) Uvr A
c) Uvr C
d) Uvr D

38. Which complex in E. coli performs in translesion synthesis?
a) DNA polymerase IV, DNA polymerase V
b) DNA polymerase II, DNA polymerase III
c) DNA polymerase III, DNA polymerase IV
d) DNA polymerase V, RNA polymerase I

39. In humans which DNA polymerase is involved?
a) DNA polymerase ƞ
b) DNA polymerase α
c) DNA polymerase β
d) DNA polymerase ν

40. In eukaryotes the other name of  Proliferaing Cell Nuclear Antigen (PCNA)  is __________
a) Sliding clamp
b) Sliding clamp loader
c) Replicative DNA polymerase
d) Translesional DNA polymerase

41. In SOS repair system cleavage of LexA and UmuD is mediated by ___________
a) RecB
b) RecA
c) RecC
d) UvrA

42. What are the two fundamental components of NHEJ?
a) KU70, KU80
b) KU50, KU70
c) KU40, KU50
d) KU30, KU40

43. In the following compounds which are involved in nucleotide excision repair?
a) UvrA, UvrB, UvrC
b) UvrC, UvrD
c) Uvr C, XPA, XPD
d) XPA, XPC, XPD, XPG

44. How many steps are required to attain mismatch repair?
a) 1

b) 3

c) 2

d) 4
45. In E. coli mismatches are detected by which repair protein?
a) Mut H
b) Mut L
c) Mut S
d) Mut D

46. Mut S recruits how many component(s) to the mismatched site?
a) 1

b) 2

c) 3

d) 4

47. The nicking of DNA is followed by the adherence of a helicase known as __________
a) Uvr D
b) Uvr A
c) Uvr B
d) Uvr C

48. By which enzyme does E. coli tags its parental DNA strand?
a) Methylase
b) Polymerase
c) Phosphorylase
d) Acetylase

49. If the Mut H cuts the DNA at the 5’ side of the mismatch then which nuclease is activated?
a) Exonuclease VII
b) Exonuclease VIII
c) Exonuclease I
d) Exonuclease IX

50. What are the eukaryotic components of Mut S and Mut L of E. coli?
a) MSH, MLH
b) MHS, MHL
c) MLS, PMS
d) PMS, MHL

51. How many kinds of mutation are found in DNA which includes mutation of only one base?
a) 1

b) 2

c) 3

d) 4

52. What is the overall rate at which new mutations arise spontaneously at any given site on the chromosome per round of replication?
a) ≈ 10-8 – 10-12
b) ≈ 10-7 – 10-9
c) ≈ 10-6 – 10-11
d) ≈ 10-5 – 10-10

53. By which process miss-incorporated base can change into a permanent mutation?
a) Replication
b) Transcription
c) Translation
d) Transposition
54. If the mutation has a negligible effect on the function of a gene, it is known as a ____________
a) Silent mutation
b) Frame shift mutation
c) Substitution mutation
d) Insertion mutation
55. Which of the following mechanisms will remove uracil and incorporate the correct base?
a) Direct repair
b) Base excision repair
c) Mismatch repair
d) Nucleotide excision repair
56. Which of the following has the self-repairing mechanisms?
a) DNA and RNA
b) DNA, RNA and protein
c) Only DNA
d) DNA and proteins
57. What is the function of enzyme involved in base excision repair?
a) Addition of correct base
b) Addition of correct nucleotide
c) Removal of incorrect base
d) Removal of phosphodiester bond
58. The DNA polymerase involved in base excision repair is ____________
a) DNA polymerase α
b) DNA polymerase β
c) DNA polymerase σ
d) DNA polymerase γ
59. An alteration in a nucleotide sequence that changes a triplet coding for an amino acid into a termination codon is ____________
a) Nonsense mutation
b) Mutagenesis
c) Mutation
d) Mutagen
60. The enzyme photolyase is used in what method of repair?
a) Base excision
b) Photo reactivation
c) Nucleotide excision
d) None of the mentioned
UNIT- V
1. In sickle cell anaemia the abnormal haemoglobin is called 

      
a) Hemocyanin               b) Hemoglobin A 

      
c) Hemoglobin S            d) Hemoerythrin

2. Hemozygosity and  heterozygosity  of an individual can be determined by 

      
a) Back cross                  b) self-fertilization 

      
c) Test cross                   d) All of the above 

3. In humans, each cell normally contains _______ of chromosomes 

      
a) 11 pairs                        b) 23 pairs 

      
c) 32 pairs                        d) 46 pairs 

4. By which of the following methods,  a pattern of inheritance can be traced  in a family?  

      
a) Pedigree analysis       b) chromosomal analysis      

      
c) Nuclear analysis        d) Cytoplasm analysis 

5. In case of taster and non-taster human beings  T is  for dominance & t is for recessive gene.              

     Which of the following would not be able  to  taste  PTC 

      
a) TT           

b) Tt 

      
c)    tt


d) None of the above 

6. Human being has........autosomes  and......... Sex  chromosomes 

      
a)  23 pair, 1 pair                b) 22 pairs,  1 pair 

      
c) 23 pair, 23 pair               d) 2pairs, 2 pairs 

7. Phenylketonuria disease caused respectively  due to  disorders  associated with 

a) chromosome 4                b)  chromosome 7 

            c) chromosome 11
       d) chromosome 12 

8. Huntington’s    diseased caused respectively due to disorders associated with 

a) Chromosome 4               b)  Chromosome 7 

c) Chromosome 11              d) Chromosome 12 

9.  Sikel cell anaemia caused  respectively  due to disorders associated  with 

               a)  chromosome 4                   b) Chromosome 7

c) Chromosome 11                d)  Chromosome 12 

10. Albinism  disorder is due to 

a) Recessive autosomal  genes     b)Dominantautosomal genes 

             c) Recessive sex genes                 d) Dominant sex genes 
11. Thalassemia  as a.......... disease  

             a) Haemoglobin                               b) Brain 

              c) Liver                                             d) kidney 

12. Thalassemia  is  controlled by  a 

   a) Gene cc                                         b)  Gene  dd

               c) Gene tt                                          d)  Gene aa 

13. Diabetes   is a disorder of.......... Metabolism 

a) Protein                                          b) Carbohydrate 

c) Amino acid                                    d) Lipid 

14. Huntington’s  shows degenerated
a) Nervous system                             b) Brain 

              c) spinal cord 

 
d) All of these 

15. Brachydactyly  is due to  

a) Dominant inheritance                 b)Recessive inheritance 

              c) sex linked inheritance                   d) None of the above 

16. In which of the following disorders, blood has a defective haemoglobin?  

             a) Haemophilia                                   b) Hematuria 

             c) Hematoma                                     d) Xanthine oxidase 

17.Albinism is a congenital  human  disorder resulting from the lack of the enzyme 

             a) catalase                                             b) Fructokinase

c) tyrosinase



d) Xanthine oxidase 

18. Phenyl betonuria  is a  human  disorder resulting from the  lack of the enzyme 

a) Phenylalanine Hydroxylase            b) tyrosinase

             c) catalase                                                d) fructokinase

19. The person with gene type........... fail to produce alkaptonuriya  disease 

a) pp                   b) hh

c) dd           d) cc 

20. The person with genotype  hh fail to produce........... disease 

              a) Phenyl ketonuria


b) Alkaptonuriya

c) Albinism                                  
d) Tyrosinosis

21. Different  types of chromosomes can be  recognized by the position of the ______ separating the two arms  

a)Centromere                                           b) genes

c) spindle                                                   d) nucleus 
22. Which  strain is used  for G-banding  of chromosome?  

             a) Quinacrine



b) Giemsa 

c) Fluorochromes                        
d) Barium hydroxide 

23. Which stain  is used  for  Q-banding  of  chromosome?  

a) Quinacrine



b) Giemsa 

              c) fluorochromes                         
d) Barium hydroxide        
24. The method  of  improving   the  human race  is  known  as 

a) Euthenics                               
 b) Eugenics 

              c) Euphenics                                
d) None of the above 

25. The  method   of    improving   the   germplasm  of  existing   individuals    is  known   as 

            a) Euthenics                               b) Eugenics 

   
c) Euphenics                              d) None of the above 

26. The  inheritance  of  metabolic  diseases  were classified  as disorders  of  

                 a) carbohydrate   metabolism                       b) Ami no acid  metabolism 

                  c) organic acid metabolism                           d) All  of  the  above 

27.  Inborn  error  of  metabolism  are  referred to as   

                 
a) Congenital metabolic disease                   b) Inheritance metabolic disease 

   

c) Both  A and B                                          d) None of the  above 

28. A picture   of  a   person’s   chromosome   is  called   as 

   
     a) karyo type                                    b) Syndrome 

                 c) Chromatin                                     d) centromere         

29. In  which   one  helps  to  identify  a particular  chromosome 

         
   a) Syndrome                                       b) karyo type 

  
 c) Pedigree analysis                            d) None of the  above 

30. The  idiogram  of  man  contains .......... Group of  chromosome  according  to  their size

a) 5


b) 6

  c) 7


d) 8

31.Who is  called  “ father of Eugenics “

a) Galton                                                            b) Griffith   

              c) Garrod                                                             d) Gold Schmidt 

32. Eugenics   is the  study  of    

a) Evolution                                                           b) Human genetics 

c) Development                                                    d) Modern  genetics 

33.Euphenics   is 

              a) improvement  of  human  race by  better  environment      

b) Improvement    of   human  race  by  genetic  engineering 

c) Treatment  of  communicable  disease                                   

d) Treatment  of  inheritable  disease 

34. The  best   method  to  improve  the  genetic  quality  of  mankind   is   

               a) Marriage  restrictions                                 b) sterilization 

               c) control  of  immigrations                            d) sexual  separation  of  defectives 

35. Curing  of  genetic  disease  is   studied  under 

            a) Genetics                             

b) Eugenics 

  
c) Euphenics



d) Dysgenics 

36. Improvement   of   human race  by  improving    the  environment  is  called 

             a) Euphenics             

b) Eugenics 

  
c) Euthenics                             d) None  of the  them 

37. Who   was  the  first  to  successfully  interprete   alkaptonuria  and  phenylketonuria   in    man   

   
a) Garrod


b) Weinberg 

             c) Muller                                   d) none of these 

38. Who  recommend  pedigree  analysis  and  twin  study  for  determining   human   genetic  traits 

   
a) sir  Francis  Galton                 b) Weinberg 

   
c) Hardy                                         d) Muller 

39. Terms  proband,  proposita    and sibling are  used  in  ________.
                a) Male                                     b) Female 

                c) Children                               d) All of  these 

40. Members   of  the  same  species  which  are  capable  of   interbreeding    is  best   described  as

                a)  community                           b) population 

   
     c) Ecosystem                             d) biosphere 

41. If 16%  of the person’s in a population show a recessive trait, what is the allelic frequency for the Dominant allele

a) 4%                                          
b) 16% 

c) 84%




d) 96% 

42. Conditions  for  Hardy- Weinberg  equilibrium    

               a) Large population                       b) Random mating 

               c) No  mutation                             d) All of  these 

43. Mating  between   closely  related   individuals  is  called 

a) Inbreeding                                b) Out  breeding 

              c) self  breeding                             d) None  of the  above 

44. ...........is an   ideal  inbreeding   

a) Self  fertilization                           b) Eugenics 

              c) Euthenics                                        d) Euthenics 

45. Preventing   the  multiplication   of defective   genes  are  

             a) positive  Eugenics                        b) Negative  Eugenics 

c) Euphenics                  

      d) All  of these 

46. Negative  Eugenics  are 

              a) Regulations of marriages                b) Sterilizing   the  defectives 

              c) Birth control                                    d) All of these 

47. Positive  Eugenics  are  

            a) Early marriage                                       b) Selective mating  

c) Selective  fusion  of gametes                 d) All of  these 

48. The   advice  given    for the  improvement  of  hereditary   character  is  called   

a) Genetic counselling                              b) Gene therapy 

              c) Education                                               d) None of these   

49. In the   Caucasian  population  of the  US  1 in 2500   babies are  affected  by  a recessive             condition – cystic   fibrosis. In this Population   the  frequency  of  the   dominant   allele  is  

a) 0.02                                         b) 0.36 

             c) 0.56          


    d) 0.98 

50. 360  out  of  1000  individuals   in a  population  have  a  genotype  of  AA while  480  have  Aa genotype. The rest  160 Belong to  aa. Frequency  of  Allele  A  in  this  population  is  

a)0.7                                              b) 0.6

            c) 0.5                                            d) 0.4  

51. What does  p2 in  the  below  maintained  Hardy-  Weinberg   equation   indicate?  (P+q) 2=p2+2pq+q2 

              a) Individuals that are  heterozygous   dominant             

b) Individuals  having a  lethal  allele 

c) Individuals that  are  homozygous  dominant           

d) individuals that  are  homozygous recessive 

52. 25 individuals  in a  population  are  homozygous  dominant, then the  individuals  that  are  expected  to  be  homozygous  recessive  are 

a)100                                b) 75 

c) 50                                d) 25 

53. Pairs  of  chromosomes arranged  from  longest  to  shortest  make  a _________.
                a) G-band                                       b) C-band   

                c) Giemsa  stain                             d) Karyotype 

54. The  number  of  autosomes in  humans   

  
    a) 44    pairs                               b) 21 pairs  

                c) 46 pairs                                   d) 45 pairs 

55. The  diagrammatic   representation   of  karyotype  of  a  species  is  called   

   
    a) Idiogram


       b) cladogram 

                c) Ecogram                                d) Chromogram

56. A  chromosome   with  a  very  short  arm   and  a  very   long  arm  is  termed  as 

       
   a) Telocentric                              b) Acrocentric 

   
   c) meta centric                             d)  Sub- meta centric 

57. Diabetes   is   characterized  by   inadequate  secretion  of   

  
  a) Insulin                                   b) Adrenalin  

              c) Thyroxine                              d) All  of  these 

58. The  size  of  chromosome  is  measured  during  

                a) Prophase                               b) Metaphase 

     
    c) Anaphase                              d) All   of   these 

59. Insulin   hormone  is  secreted  by   

a) Alpha-cells  of   islets  of  Langerhans            
b) Beta-cells of  islets  of  Langerhans 

    
c) Gamma- cells  of  islets  of  Langerhans          
d) Lambda- cells  of  islets  of  Langerhans 

60. Symbtoms of  diabetes  are 

         
a) Excessive  urine  production                              
b) Excessive  amount of  sugar in blood 

c) Excessive  thirst & hunger                                 
d) All of  these 
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UNIT-IV

1.c; 2.c; 3.a; 4.b; 5.a; 6.c; 7.c; 8.d; 9.a; 10.c; 11.a; 12.a; 13.a; 14.b; 15.a; 16.c; 17.d; 18.a; 19.b; 20.d; 21.b; 22.c; 23.c; 24.d; 25.c; 26.c; 27.a; 28.a; 29.c; 30.b; 31.c; 32.b; 33.a; 34.b; 35.b; 36.b; 37.c; 38.a; 39.a; 40.a; 41.b; 42.a; 43.d; 44.c; 45.c; 46.b; 47.a; 48.a; 49.a; 50.a; 51.b; 52.c; 53.a; 54.a; 55.b; 56.c; 57.c; 58.b; 59.a; 60.b.
UNIT-V

1.c; 2.c; 3.b; 4.a; 5.c; 6.b; 7.d; 8.a; 9.c; 10.a; 11.a; 12.a; 13.b; 14.d; 15.a; 16.d; 17.c; 18.a; 19.b; 20.b; 21.a; 22.b; 23.a; 24.a; 25.b; 26.d; 27.c; 28.a; 29.b; 30.c; 31.a; 32.b; 33.b; 34.d; 35.c; 36.c; 37.a; 38.a; 39.d; 40.b; 41.c; 42.d; 43.a; 44.a; 45.b; 46.d; 47.d; 48.a; 49.b; 50.d; 51.c; 52.d; 53.d; 54.a; 55.a; 56.b; 57.a; 58.b; 59.b; 60.d.













